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 Maximum Marks : 200 

Read the following instructions carefully before you begin to answer the questions. This booklet contains questions in 
English as well as in Hindi. 

iz'uksa ds mRrj nsus ls igys uhps fy[ksa vuqns'kksa dks /;kuiwoZd i< ysaA bl iqfLrdk esa iz'u vaxzsath rFkk fgUnh nksuksa esa fn;s x;s gSa 
Before you start to answer the questions you must check up this 
booklet and ensure that it contains all the pages (1-8)  and see 
that no page is missing or repeated. If you find any defect in 
this booklet, you must get it replaced immediately 

 Ikz’uksa ds mRrj nsus ls igys vki bl iqfLrdk dh tk¡p djds ns[k ysa fd blesa 
iwjs ist gSa rFkk dksbZ ist de ;k nksckjk rks ugh vk x;k gSA ;fn vki bl 
iqfLrdk esa dksbZ =qfV ik,¡ rks rRdky blds cnys nwljh iqfLrdk ys ysaA  

INSTRUCTIONS TO CANDIDATE  mEehnokjksa ds fy, vuqns’k 
 

2.  In questions set bilingually in English and Hindi in case of 
discrepancy, the English version will prevail.  

 2  vaxzsth vkSj fgUnh Hkk’kk esa rS;kj fd, x, f}Hkk’kh iz”u a esa dksbZ folaxfr gksus 

dh fLFkrh esa vaxzsth fooj.k ekU; gksxk    

3.   All questions are compulsory and carry equal marks.  3  lHkh Ikz”u vfuok;Z gSa rFkk lcds cjkcj vad gSa  
 

tk,xk  
5.  You will be supplied the answer sheet separately by the 

invigilator you must complete and code the details of Name, 
Roll Number, Ticket Number and Test form Number in the 
Answer sheet carefully. You must also put your signature and 
Left Hand thumb impression on the answer sheet will not be 
evaluated.  

 5  fujh{kd }kjk vkidks mRrj if=dk vyx ls nh tk,xhA mRrj iqfLrdk esa 

fu;ekoyh ds vuqlkj /;kuiwoZd viuk uke] jksy uEcj] fVdV uEcj vkSj VSLV 

QkeZ la[;k vo”; fy[ksaA iz”uksa ds mRrj okLro esa “kq: djus ls igys mRrj 

iqfLrdk ij fu/kkZfjr LFkku esa vki vius gLRkk{kj ,ao ck,a gkFk ds vaxwBs dk Hkh 

fu”kku Hkh vo”; yxk;saA mi;qZDr vuqns”kksa dk iwjh rjg vuqikyu fd;k tk, 

vU;Fkk vkidh mRrj iqfLrdk dks tkapk ugh tk,xk  
6.   Answersheet must be shown by completely blackening the 

corresponding circles on side-II of the answer sheet against the 
relevant question number by Black/Blue Ball point pen will 
not be awarded any mark.  

 6  mRrj if=dk esa lHkh mRrj Side II  esa iz”u la[;k ds lkeus fn, x, lEcfU/kr 

xksykdkj [kkuksa dks dsoy dkys@uhys cky ikabV isu ls iwjh rjg dkyk djds 

fn[kka,aA tks xksykdkj [kkus dkys @uhys cky ikbaV isu ls ugh Hkjs tk,axs] 

muds fy, dksbZ vad ugh fn;k tk,xk 
7.  A machine will read the coded information in the OMR 

answersheet in case the information is incomplete or different 
from the information given in the application form, such 
candidate will be awarded ‘ZERO’ mark.  

 7 vksŒ,eŒvkjŒ mRrj if=dk esa Hkjh x;h dwV lwpuk dks ,d e”khu i<sxhA;fn 

lwpuk viw.kZ gS vFkok vkosnu i= esa nh xbZ lwpuk ls fHkUu gS rks ,sls vH;Fkh 

dks “kwU; fn;k tk,xk   

8.   The answer sheet must be handed over to the invigilator before 
you leave the examination hall.  

 8  ijh{kk gkWy NksMus ls igys ijh{kkFkhZ dks mRrj if=dk fujh{kd ds gokys nsuh 

pkfg,  
 9  Åij ds vuqns”kksa esa ls fdlh ,d dk Hkh ikyu u djus ij mEehnokj ij 

foosdkuqlkj dk;Zokgh dh tk ldrh gS ;k n.M fn;k tk ldrk gS  

10. NO Rough work is to be done on the answersheet. Blank spaces 
provided at various placed in the question booklet may be used 
for rough work. 

 10 dksbZ jQ dk;Z mRrj if=dk ij ugh djuk gSA iz”u iqfLrdk esa fofHkUu LFkkuksa 

ij miYkC/k [kkyh txgksa ij jQ dk;Z fd;k tk ldrk gS 

 

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,  
 

9.  Failure or comply with any of the above instructions will 
render a candidate liable to such action/penalty as may be 
deemed fit. 

      Part-A General Intelligence and Reasoning  –(25 Questions)
       Part B General Awareness                         –(25 Questions) 
       Part-C Quantitative Aptitude                      –(25 Questions)
        Part-D English comprehension                   –(25 Questions)
   

4.  The paper carries negative marking 0.5 marks will be deducted 
for each wrong answer.  

4  iz”ui= esa udkjkRed vadu gksxk@gj xyr mRrj ds fy, 0.5  vad dkVk 

vf/kdre vad % 200 

1 bl iqfLrdk esa dqy 100 iz”u gSa ftuesa fuEufyf[kr pkj Hkkx gS1. This booklet contains 100 questions in all comprising the 
following four parts.  

fu/kkZfjr le; % 1 ?k.Vk 15 feuV
Time Allowed : 1 hour 15 minutes 
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Part-I. 
GENERAL INTELLIGENCE AND REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

1. Ramp : Highway :: ? : House 
 jSai % gkbZos %% \ % ?kj 

 (A) Traffic/VªSfQd  (B) Head/lj  

 (C) Door/njoktk  (D) Speed/pky 

2.  Vamp : Shoe :: Hood : ? 
 iScUn % twrk %% <+Ddu % \ 

 (A) Jacket/tSdsV  (B) Car/dkj  

 (C) Clean/lQkbZ  (D) Crook/vijk/kh 

3. AFKP : BGLQ :: CHMR : ? 

 (A) DINS  (B) DFKP  
 (C) DNIS  (D) EJOT 

4.  18 : 162 :: 36 : ? 
 (A) 984  (B) 1296  

 (C) 72  (D) 648 

5.  Amnesia : Memory :: Paralysis : ? 
 Le`fr&yksi % Lef̀r %% ydok % \ 

 (A) Legs/Vkaxs  (B) Handicapped/fodykax 

 (C) Movement/xfr (D) Limbs/vax vo;o 

Directions (11–18) : Find the odd word/letter/ number from 

the given alternatives. 
funsZ'k fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k dks pqfu, A 

6.  (A) 41-72 (B) 12-30  (C) 42-51 (D) 11-20 
7.  (A) Varanasi/okjk.klh (B) Nagpur/ukxiqj 

 (C) Haridwar/gfj}kj  (D) Allahabad/bykgkckn 

8.  (A) Plant : Flower/ikS/k % Qwy 

 (B) Chair : Sofa/dqlhZ % lksQk  
 (C) Face : Eye/psgjk % vka[ks 

 (D) Stream : Tree/ruk % isaM+ 

9.  (A) 527  (B) 639  

 (C) 246  (D) 356 
10. Choose the correct alternatives from the given ones 

that will complete the series. 
 fn, x, fodYiksa esa ls lgh fodYi dk p;u djsa tks fd 

Jà[kyk dks iwjk djsxkA 

 a_c_baab_cb_ 

 (A) abbc  (B) abab 
 (C) aabb  (D) bcca 

11. If the letters of the English alphabet are serially 

numbered, one of the answer given below has a 
meaningful word hidden in it. Identify the answer.  

 ;fn vxzsath o.kZekyk ds v{kjksa dks dzekuqlkj vad iznku fd;k 

tk,a rks uhps fn, x, mRrjksa esa ls fdlh ,d dk lkFkZd 'kCn 

fudyrk gS] tks fd fufgr gSA ml mRrj dks igpkfu;saA 

 (A) 13, 8, 9, 17, 14, 22  (B) 1, 12, 7, 5, 2, 18, 1 

 (C) 1, 7, 5, 12, 18, 1 (D) 4, 21, 7, 18, 13, 1 

12. Some equations are solved on the basis of a certain 
system. Find the correct answer for the unsolved 

equation on that basis. 
 dqN lehdj.k ,d fo'ks"k iz.kkyh ds vk/kkj ij gy fd;s x, 

gSaA mlh vk/kkj ij vuqRrfjr lehdj.k dk lgh mRrj Kkr 

dhft, \ 

 5 × 8 = 28, 3 × 7 = 12, 8 × 6 = 35, 13 × 13 = ? 

 (A) 169  (B) 130  
 (C) 140  (D) 144 
Directions (13-14): From the given options choose the missing 

number/letter. 

funsZ'k (13-14): fn, x, fodYiksa esa ls yqIr la[;k@v{kj Kkr 

dhft,A 

13.  

4 7 9 

8 6 8 

3 7 9 

35 49 ? 

 (a) 63  (b) 89  
 (c) 81  (d) 64  

14.  

7 6 8 

5 4 9 

3 2 1 

83 56 ? 

 (a)146  (b) 128  

 (c) 136  (d) 148  

15. I am facing East. I go 20 metres, then turning to the 
left I go 20 metres, then after turning to the right I go 

40 metres and then I go 40 metres to the right. Now in 
which direction am I from my original position ? 

 esjk eqg iwoZ dh vksj gSA eSa 20 ehVj tkrk gaw] fQj ckbZ vksj 

eqM+dj 20 ehVj tkrk gw] fQj nkbZ vksj eqM+dj 40 ehVj tkrk 

gw vkSj fQj esa nkbZ vksj 40 ehVj tkrk gwaA vius izkjafHkd LFkku 

ls vc eSa fdl fn'kk esa gw \ 

 (A) North-West/mRrj&if'pe (B) West/if'pe 

 (C) South-East/nf{k.k&iwoZ (D) East/iwoZ 

16. Statements/dFku% 

 All women are cats.  
 lHkh efgyk,a fcfYy;ka gSaA 

 All cats are rats. 
 lHkh fcfYy;ka pqfg;ka gSaA 

 Conclusions/fu"d"kZ% 

 I. All women are rats. 
 lHkh efgyk,a pqfg;k gSaA 

 II. All rats are women. 
 lHkh pqfg;k efgyk, gSaA 

(A)  Neither Conclusion I nor II follows 
 u rks fu"d"kZ I u gh fu"d"kZ II vuqlj.k djrk gS 

(B)  Only conclusion I follows 
 dsoy fu"d"kZ I vuqlj.k djrk gS 

(C)  Only conclusion II follows 
 dsoy fu"d"kZ II vuqlj.k djrk gS 

Directions (1–5) : In each of the following questions, 

select the related letter/word/figure/ number from the 

given alternatives. 
funsZ'k (1&5) % fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls 

lEcfU/kr v{kj@'kCn@vkd`fr@ la[;k dks pqfu, A 
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(D)  Both Conclusion I and II follows 
 fu"d"kZ (1) vkSj (2) nksuksa gh vuqlj.k djrk gS 

Directions : Find the missing number (?) from the given 
options. 

fn, x, fodYiksa esa ls yqIr la[;k (?) Kkr dhft,A 

17. 12, 27, 85, 345, ? 

 (A) 1737 (B) 1380 (C) 1725 (D) 1731 
18.  Four positions of a dice are given below. Identify the 

number at the bottom when the number on the top is 
2. 

 uhps ,d ikls fd pkj fLFkfr;ka n'kkbZ gqbZ gS lcls uhps okys 

Qyd ij dkSu lh la[;k gksxh ;fn mij okyh la[;k 2 gS\ 

 

 (A) 6 (B) 3 (C) 4 (D) 5 

19. Which of the following diagrams indicates the best 

relationship between Teacher, Writer and Musician ? 
 buesa ls dkSu&lk vkjs[k v/;kid] ys[kd rFkk laxhrdkj ds 

chp lgh laca/k bafxr djrk gS \ 

 (a) (b)  (c)  (d)  

20. Which piece of paper will appear as question figure 
when folded and cut as show below in answer figures. 

From the given answer figures, indicate how will it 
appear when opened ? 

 uhps iz'u vkd`fr;ksa esa fn[kk, vuqlkj dkxt dks eksM +dj 

dkVus rFkk [kksyus ds ckn og fdl mRrj vkd`fr tSlk fn[kkbZ 

nsxk \ 

 Questions figure : 
 iz'u vkd`fr% 

 

 Answer figures : 
 mRrkj vkd`fr;ka% 

 

                        (a)              (b)            (c)             (d) 

21.  Find the number of triangles in the given figure ? 
 fn, x, vkd̀fr esa dqy fdrus f=Hkqt gSa \ 

 

 (A) 8 (B) 10 (C) 12 (D) 14 

22. A woman says, “If you reverse my own age, the figures 
represent my husband‟s age. He is, of course, senior to 

me and the difference between our ages is one-

eleventh of their sum.” The woman‟s age is 
 fdlh efgyk us dgk] ;fn vki esjh mez dks mYVk djrs gS rks 

izkIr la[;k esjs ifr ds mez dks n'kkZfr gSA og vo'; gh eq>s 

ls mez esa cM+k gS rFkk gekjh mezksa dk vUrj mez ds ;ksx ds 

1/11 Hkkx ds cjkcj gSA efgyk dh mez fdruh gS\ 

 (A) 23 years/o"kZ  (B) 34 years/o"kZ 
 (C) 45 years/o"kZ (D) None of these/buesa ls 

dksbZ ugha 

23.  Point out the word which can be formed from the 

letters of the given word in capital letters. 
 ml 'kCn dk p;u djsa tks fn, x, 'kCn ds v{kjksa ls cuk;k 

tk ldrk gSA 
 BLANDISHMENT 

 (A) BOARD (B) METALIC (C) SHADE (D) CRASH 
24.  Which of the answer figure is the right mirror image of 

the question figure ? 
 nh xbZ mRRkj vkd̀fr;ksa esa ls dkSu lh vkd`fr iz'u vkd̀fr dk 

lgh niZ.k izfrfcEc gSa \          247596  

 (a) 695742 (b)  (c)  (d)  

25.  A word is represented by only one set of numbers as 

given in any one of the alternatives. The sets of 
numbers given in the alternatives are represented by 

two classes of letters as in two matrices givenbelow. 
The columns and rows of Matrix-I are numbered from 

0 to 4 and that of Matrix- II are numbered from 5 to 9. 

A letter from these matrices can be represented first by 
its row and next by its column. E.g., „A‟ can be 

represented by 02, 14, 33 etc., and „K‟ can be 
represented by 57, 69, 88 etc. Similarly, you have to 

identify the set for the word „SAME‟. 
 ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd 

fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, 

la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd uhps 

fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh 

la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu vkO;wgksa 

ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk la[;k 

}kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, „A‟ dks 02, 14, 33 

vkfn }kjk n'kkZ;k tk ldrk gS rFkk „K‟ dks 57, 69, 88 vkfn 

}kjk n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn „SAME‟ ds 

fy, la[;k lewg dks igpkuuk gSA 

        Matrix/vkO;wg I         Matrix/vkO;wg-II 

 
 (A) 20, 23, 86, 95  (B) 13, 30, 67, 69 

 (C) 32, 14, 67, 89  (D) 44, 40, 95, 57 

Part-II. 
QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26. If x b c a, y c a b,z a b c,          then find the 

value of (b-a) x+(c-b) y+(a-c) z 

 ;fn x b c a, y c a b,z a b c,         gks rks 

(b a) x   (c b) y (a c)z  dk eku Kkr djsa \  

 (a) 0 (b) -1 (c) 1 (d) None of these  

27. n equidistant points 1 2 3 nA ,A ,A ,...A  are taken on base 

BC of ABC . 1 1 2 nA B A A A C    and area of 4 5AA A  

is k 2cm  , then what is the ara of ABC   

 f=kHkqt ABC  ds vk/kj BC  ij n rd cjkcj nwjh 

ds A ,A ,A ,...A1 2 3 n  fcUnq gSA ;fn A B A A A C1 1 2 n  rFkk  
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AA A4 5 dk {kS=Qy k oxZ lseh gks rks ABC dk {kS=Qy D;k 

gksxk\   

 (a) nk sq. cm. (b) (n+k) sq. cm (c) n/k sq. cm (d) 
(n+k)× sq.cm.  

28. If 4x 9 4x 9 5 7       then what the value of 

x ?  

 ;fn 4x 9 4x 9 5 7      gks] rks x  dk eku Kkr 

dfj;sa\  

 (a) 5  (b) 7  

 (c) 3  (d) 4  
29. The length of two perpendicular chords of circle are 

respectively 2a and 2b. If distnance of its point on 

intersection from the centre is c, then what is the 
radius of circle?  

 fdlh òRr ds nks yEcor thokvksa dh yEckbZ dze'k 2a  rFkk 

2b  gSA ;fn dsUnz ls IzkfrPNsfnr fcUnw c  gS] rks òRr dk dsUnz 

D;k gS\  

 (a) 
2 2 2a b c 

   (b) 
2 2 2a b c

2

 
  

 (c) 
2 2 2a b c

2

 
   (d) 

2 2 2a b c

2

 
  

30. If XYZ 64   and XY is produced to point P. If YQ line 

bisects ZYP . Then find the measure of PYQ  

 ;fn XYZ 64  
rFkk js[kk XY  dks P  rd c<k;k x;kA ;fn 

js[kk YQ, ZYP  dks lef}Hkkftr djsa] rks PYQ eku Kkr djsa    

 (a) 302º (b) 292º (c) 310º (d) 312º 

31.  An aeroplane is flying above a horizontal plane. The 
angle of depression of two consecutive mile stones at 

plane in opposite directions are   and   respectively. 

Find the height of aeroplane in form of tan   and tan   

(in km)  
 ,d gokbZ tgkt leLrjh; LFkku ds mij mM jgk gSA foeku 

ls nks foijhr LFkku ds iRFkjksa ds voueu dks.k dze'k  rFkk 

 gSA gokbZ tgkt dh mapkbZ tan  rFkk tan  ds Iknksa esa Kkr 

djsa ¼fdeh esa½ 

 (a) 
tan tan

2 tan tan

  

 
  (b) 

2 tan .tan

tan tan

 

  
  

 (c) 
tan .tan

tan tan

 

  
   (d) None of these  

32.  A, B and C working together can do a piece of work in 
10 days. C works only for 3 days and 37% of work has 

been completed in 3 days. If A‟s 5 days work is equal 
to B‟s 4 day work, then find the time in which they 

individually complete the whole work ?  
 A,B  rFkk C feydj fdlh dk;Z dks 10 fnuksa esa dj ldrs 

gSA C dsoy 3 fnu dk;Z djrk gS rFkk 3 fnuksa esa 37 izfr'kr 

dk;Z Ikwjk gqvkA A  ds 5 fnu dk dk;Z B ds 4 fnu ds dk;Z ds 

cjkcj gks rks muds }kjk vyx vyx dk;Z lekIr djus esa 

yxus okyk le; Kkr djsa   

 (a) 30 days, 35 days, 45 days   
 (b) 25 days, 20 days, 60 days  

 (c) 25 days, 20 days, 30 days   
 (d) 60 days, 35 days, 45 days  

33. 
6 6

2 2

sin cos

sin cos

  

  
 is equal to / cjkcj gksxk  

 (a) 4 6sin cos     (b) 2 21 sin cos     

 (c) 2 21 sin cos      (d) 2 21 3sin cos      

34. From two places, 60 km apart, A and B start towards 

each other at the same time and meet each other after 
6 hours. Had a travelled with 2/3 of his speed and B 

travelled with double of his speed, they would have 

met after 5 hours. Find the speed of A.  
 fdUgh 60 fdeh nwj LFkku ls A o B  ,d gh le; ij ,d 

nwljs dh vksj pyuk izkjaHk djrs gS rFkk ,d nwljs ls 6 ?kaVs 

ckn feyrs gSA ;fn A vius 2 / 3 pky ls os B  nksxquh pky ls 

pyrk gS rks os 5 ?kaVs ckn feyrs gSa A dh pky Kkr djsa      

 (a) 4 km/hrs  (b) 6 km/hrs  

 (c) 10 km/hrs  (d) 12km/hrs  
35. The height of a tree increases every year 1/8 times. If 

the present height of the tree is 64 cm, what will be its 

height after 2 years ?  
 fdlh isM dh yECkkbZ izfr o"kZ 1@8 xquk c< tkrk gSA ;fn isM 

dh orZeku mapkbZ 64 lseh gS] rks 2 o"kZ ckn mldh mapkbZ 64 

lseh gS rks 2 o"kZ ckn mldh mapkbZ D;k gksxh   

 (a) 76 cm (b) 80 cm (c) 81 cm (d) 84 cm  

36. The difference between CI and SI on  a certain sum at 
r% per annum for 2 years is Rs. x and the difference 

between CI and SI on a certain sum at 4% for 3 years 
is Rs. 608. Then find the expression for principal sum  

 fdlh jkf'k ij pdzo`f) C;kt o lk/kj.k C;kt dk vUrj 2 o"kksaZ 

esa r%  izfro"kZ dh nj ls : x gS rFkk ;fn 3 o"kZ esa pdzòf) 

C;kt o lk/kj.k C;kt dk 4 izfr'kr okf"kZd nj ij vUrj : 

608 gS rks ewy/u dh jkf'k Kkr djsa  

 (a) Rs. 125000 (b) Rs. 120000 (c) 130000 (d) Rs. 
122250  

37. 6 litres are drawn from a cask full  of wine and it is 
then filled with water. 6 litres of mixture are drawn and 

the cask is again filled with water. The quantity of wine 

now left in the cask is to that of the water in it as 
121:23. How  much does the cask hold ?  

 efnjk ls Hkjs ,d ihik ls 6 yhVj fudkyk tkrk gS rFkk ikuh 

ls Hkj fn;k tkrk gSA 6 yhVj feJ.k fiQj ls fudkyk tkrk gS 

rFkk nksckjk ikuh ls Hkj fn;k tkrk gSA ihik esa cps feJ.k easa 

efnjk o Ikkuh dk vuqikr vc 121 : 23  gSa ihik dh /kkfjrk Kkr 

djsa  

 (a) 54 litres (b) 62 litres (c) 70 litres (d) 72 litres  

38. What is the maximum value of 6 6sin cos     

 
6 6sin cos   vf/kdre eku D;k gksxk  

 (a) 1/4 (b) 1/2  (c) 1 (d) None of these  
39. 3 cooks have to make 80 burgers. They are known to 

make 20 pieces every minute by working together. The 
first began working for some time more than 3 

minutes, and the remaining part of work was done by 

2nd and 3rd cook together and it takes a total of 8 
minutes to complete the whole work. Then find in how 

many minutes would it take first cook alone to make 
160 burgers.  



SSC CGLE Test Series -26  ,l ,l lh lh th ,y b VSLV lhfjt NCchl 

 

4 
       

 

 Rkhu ckofpZ;ksa dks 80 cxZj cukuk gSA ,d lkFk dk;Z djrs gq, 

os ,d feuV esa 20 cxZj cukrs gSA igyk vdsys dk;Z djuk 

'kq: djrk gSA vkSj 3 feuV ls dqN vf/kd le; esa 20 cxZj 

cukrk gS vkSj 'ks"k dk;Z ckdh ds nks ckophZ ,d lkFk feydj 

djrs gSa rFkk dk;Z dks iwjk djus esa dqy 8 feuV yxrk gSA rks 

crk;sa fd igys ckophZ dks vdsys 160 cxZj cukus esa fdrus 

feuV yxsaxsa \   

 (a) 32 min (b) 64 min (c) 4 min (d) 36 min  
40. If the selling price of an article is double then its loss 

percent is converted in numerically equal profit 
percent. Then loss percent on the article is  

 ;fn fdlh oLrq ds fodz; ewY; dks nksxquk dj fn;k tk;s rc 

bldk gkfu izfr'kr blds ykHk Ikzfr'kr esa cny tkrk gSA rc 

oLrq ij gkfu Ikzfr'kr gS\  

 (a) 2
26 %

3
  (b) 33% (c) 1

33 %
3

  (d) 34%  

41. Deepak purchased a scooter at 13/15 of it selling price 
and sold it at 12% more than its selling price. Find his 

gain percent  
 nhid ,d LdwVj dks blds fodz; ewY; 13 /15  esa [kjhnrk gS 

o blds fodz; ewY; ds 12 izfr'kr vf/d ij csprk gSA mldk 

ykHk dk izfr'kr Kkr djsa  

 (a) 20% (b) 30% (c) 
1

38 %
3

  (d) 
3

29 %
13

  

42.If the radii of the circles with centres O and P as shown 

below are 4 and 2 cm respectively.Find the area of 

triangle ABC  
 Ukhps fn;s fp=k esa O rFkk P dsUnz okys o`Rrksa dh f=T;k,a dze'k 

4 o 2 lseh gS] rks ABC {kS=Qy Kkr djsa     

A

4

O

D

B

2 E
P

C  

 (a) 36 sq. cm (b) 62 sq. cm (c) 18 sq. cm (d) 48 sq. 

cm  

43. The respective height and volume of hemisphere and a 
right circular cylinder are equal, then the ratio of their 

radii is  
 v)Zxksys o yEcoR̀rh; csyu ds lacf/r mapkbZ o vk;ru cjkcj 

gS rks mudh f=T;kvksa dk vuqikr gSA 

 (a) 2 : 3  (b) 3 :1   (c) 3 : 2   (d) 2 : 3  

44. The perimeters of a circle, a square and an equilateral 

triangle are same and their areas are C,S and T 

respectively.Which of the following statement is true?  
 ,d oR̀r] oxZ vkSj leckgq f=Hkqt dk ifjeki cjkcj gS rFkk 

muds {kS=Qy dze'k C,S  rFkk T  gSA dkSu lk dFku lgh gS\  

 (a) C=S=T (b) C>S>T (c) T<S<C (d) S<C<T  
45. A conical flask is full of water. The flask has baser 

radius r and height h . This water is poured into a 
cylindrical flask of base radius m. find the height of 

water in the cylindrical flask?  

 ,d 'kaDokdkj cksry ikuh ls Hkjk gSA cksry ds vk/kj dh 

f=kT;k r  o mapkbZ h  gSaA bldk Ikkuh ,d csyukdjk cksry esa 

Mkyk tkrk gS ftlds vk/kj dh f=kT;k m  gSA csyukdkj cksry 

esa Ikkuh dh mapkbZ Kkr djsa  

 (a) 2mr / 2h  (b) 2hr 2m
2

  (c) 2h/m (d) 2 2hr / 3m    

Directions 41-45: Study the graph carefully and answer 
the questions given below.Total number of students in 6 

different schools and percentage of girls is given.  
fn;s x;s xzkQ dk /;kuiwoZd v/;;u dfj;s rFkk iz'uksa ds mRrj 

nhft,  

3500

3000

2500

2000

1500

1000

500

0
P Q R S T U

Number of students fo/kkfFkZ;ksa dh la[;k 

 
Schools Percentage of girls
fo/kky; esa yMfd;ksa dk izfr”kr 

P Q R S T U

SCHOOL fo/kky; 

50

45

40

35

30

25

20

15

10

5

0

 
 46. What is the ratio of the numbers of girls schools P and 

Q?  
  fo/ky; P  vkSj Q  esa yMfd;ksa dh la[;k dk vuqikr D;k gS 

 (a) 27:20 (b) 17:21  (c) 20:27 (d) 21:17  

47. Find the average number of students in all schools ? 
 lHkh fo/ky;ksa ds Nk=kksa dh vkSlr la[;k Kkr djsa\ 

 (a) 2000 (b) 2500 (c) 1800 (d) None of these  

48. Two cars are moving with speed V ,V1 2  towards a 

crossin along two roads. If their distance from the 

crossing be 40 metres and 50 metres at an instant of 
time then they do not collide of their speed are such 

that ?  
 nks ckj V1 o V2  pky ls pyrs gq, lMd ds lkFk lkFk pkSjkgs 

dh rjQ tk jgh gSA ;fn pkSjkgs ls mdh nwjh ,d le; ij 40 

ehVj o 50 ehV gS ks muesa VDdj ugh gksxk] ;fn mudh pky 

gks   

 (a) V : V 16 : 251 2     (b) V : v 4 : 51 2     
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 (c) V : V 5 : 41 2     (d) V : V 25 :161 2    

49.A milkman buys some milk. If he sells it at Rs. 50 litre, 

he loses Rs. 2000, but when he sells it at Rs. 60 a liter, 
he gains Rs. 1500. How much milk did he purchase?  

 ,d nwf/k;k dqN ek=kk esa nw/k [kjhnrk gSA ;fn og bls : 50 

izfr yhVj csps rks] mls : 2000 dk gkfu gksrk gS ysfdu tc 

og bls : 60 izfr yhVj csps rks mls 1500 dk ykHk gksrkA 

mlus fdruk nq/k [kjhnk FkkA  

 (a) 450 litre (b) 300 litre (c) 420 litre (d) 350 litre  
50.  The rate of interest on a sum of money is 4 percent per 

annum for the first 2 years, 6 percent per annum for the next 
4 years and 8 percent per annum for the period beyond 6 
years. If the simple interest accrued by the sum for a total 
period of 9 years is Rs. 1120, what is the sum? 

 igys 2 o"kksZa ds fy, fdlh /ku ij C;kt dh nj 4% izfr o"kZ 

gS] vxys 4 o"kksZa ds fy, ;g 6 izfr'kr izfr o"kZ ,oa 6 o"kZ ds 

ckn fdlh Hkh vof/k ds fy, 8 izfr'kr izfr o"kZgSA ;fn /ku ij 

9 o"kksZa dh dqy vof/k ds fy, izkIr lk/kj.k C;kt Rs. 1120 gks 

rks ewy/ku D;k gS\ 

(A) Rs 2000 (B) Rs 2200 

(C) Rs 2400 (D) Rs 2500 
Part-III. 

GENERAL AWARENESS 

¼LkkekU; tkudkjh½ 

51. Which of the following occurs when labour productivity 
rises ? 

 Jfed dh mRikndrk c<+us ij fuEufyf[kr esa ls D;k ?kfVr 

gksrk gS\ 

(A)  The labour demand Curve shifts to the right Jfed 

ek¡x oØ nkbZ vksj LFkkukarfjr gks tkrk gSA 

(B)  Competitive firms will be induced to use more capital 
izfr;ksxh QeksZa dks vf/kd iw¡th ds iz;ksx ds fy, izsfjr 

fd;k tkrk gSA 

(C) The equilibrium nominal wage falls larqyu udnh 

etnwjh esa fxjkoV gksrh gSA 

(D) The equilibrium quantity of Labour falls. Jfed ds 

larqyu ifjek.k esa fxjkoV gksrh gSA 

 52.  Copper is refined by 

dkWij dks fdlds }kjk 'kq) fd;k tkrk gSa\ 

(A) roasting/jksfLVax 

(B) oxidation/vkWDlhMs'ku 

(C) electrolysis/bySDVªksykbfll 

(D) zone refining/t+ksu fjQkbfuax 
53. Which committee recommended for three language 

formula ? 

 f=Hkk"kh; lw=k dh fliQkfj'k fdl lfefr us dh Fkh \ 

 (A) Kothari Committee/dksBkjh lfefr 

 (B) Raj Committee/jkt lfefr  

 (C) Dutt Committee/nÙk lfefr 

 (D) Rajamannar committee/jktkeUukj lfefr 

 54. Who is the author of book „„All the Prime Minister's Men‟‟ ? 

 vkWy n izkbe fefuLVjl eSu¸ iqLrd ds ys[kd dkSu gS\ 

 (A) Chetan Bhagat/psru Hkxr 

 (B) Amrita Pritam/ve`rk izhre 

 (C) Janardan Thakur/tuknZu Bkdqj 

 (D) L. Fischer/,y- fiQ'kj 

 55. Who is the 42th Chief justice of India ? 

 Hkkjr ds 42 osa eq[; U;k;k/h'k dkSu gS \ 

 (A) H. J. Kania /,p- ts- dkfu;k 

 (B) Y. K. Sabharwal/okbZ- ds- lHkjoky 

 (C) T. S. Thakur/Vh- ,l- Bkdqj 

 (D) H. L Dattu/,p- ,y- nÙkw 

56. Which Veda is important for India Music ? 

 dkSu&lk osn Hkkjrh; laxhr ds fy, egRoiw.kZ gS \ 

 (A) Sama Veda/lkeosn (B) Yajur Veda/;tqoZns 

 (C) Atharva Veda/vFkZosn (D) Rig Veda/½Xosn 

57.  Bear-Lamberts law is related to : 
 ch;j&ySEcVZ dk fu;e fdlls lEcfU/r gS \ 

 (A) Reflection/ijkorZu (B) Refraction/viorZu 

 (C) interference/baVjiQsjsal (D) illumination/iznhfIr 

58.  Which of the following is a physical basis of life ? 
 fuEu esa ls dkSu&lk thou dk HkkSfrd vk/kkj gS \ 

 (A) Protoplasm/thonnzO; (B) Nucleus/ukfHkd 

 (C) Mitochondria/ekbVªksdkWfUMª;k (D) Ribosome/jkbckslkse 

 59. Which among the following regulation made English as a 

medium of education compulsory in government aided 
school and colleges ? 

 fuEufyf[kr esa ls dkSu&lk vf/kfu;e gS ftlds }kjk lHkh 

ljdkjh lgk;rk izkIr Ldwyks vkSj dkWystkas ds fy, vaxzsth dks 

f'k{kk ds ekè;e ds :i esa vfuok;Z cuk;k x;k Fkk\ 

 (A) Pitts India Act, 1784/fiV~l bf.M;k ,DV] 1784 

 (B) Eductional Despatch, 1835/,tdq 's ku fMLipS 1854 

 (C) Macaulay's Minute, 1835/eSdkyst feuV] 1835 

 (D) Regulating Act, 1773/jsX;wysfVax ,DV] 1773   
60. The black colouring matter in cosmetics used for eye - 

makeup is 
 fuEufyf[kr esa ls dkSu&lk inkFkZ vk¡[kksa ds J`axkj es bLrseky 

fd;s tkus okys dkty ¼vaxjkx½ esa iz;ksx fd;k tkrk gS \ 

 (A) Coke/dksd 

 (B) Lamp black/ySEi CySd 

 (C) Charcoal/pkjdksy 

 (D) Lead sulphide/ysM lYiQkbZM 

61. The temperature of water at bottom of a lake whose 
upper surface has frozen to ice would be around ? 

 fdlh >hy dh ryh ij ty dk rkieku yxHkx D;k gksxk 

ftldh Åijh lrg fLFkj gksdj cQZ cu xbZ gks\ 

 (A) –10ºC  (B) zero/'kwU; 

(C) 4ºC    (D) – 4º C 

62.  X-rays are 
 X-fdj.ksa gS 

 (A) Longitudinal wave/vuqnSè;Z rjax 

 (B) Transverse wave/vuqizLFk rjax 

 (C) Electromagnetic wave/fo|qr pqEcdh; rjax 

 (D) Elastic wave/izR;kLFk rjax 

 63. Which of the following compound is known as „„King of 

chemicals‟‟ ? 
 fuEufyf[kr esa ls dkSu&lk ;kSfxd ¶jklk;uksa dk jktk 

dgykrk gS \ 

 (A) Sulphuric acid/lYÝ;wfjd vEy 

 (B) Hadrochloric acid/gkbMªksDyksfjd vEy 

 (C) Sodium Hydroxide/lksfM;e gkbMªkWDlkbM 

 (D) Ammonium chloride/veksfu;e DyksjkbM 
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64. The Industrial Revolution in England represented the 

climax of the transition from? 
 baXyS.M esa vkS|ksfxd Økafr us laØe.k ds pjeksRd"kZ dks fdlesa 

fu:fir fd;k\ 

 (A) Slavery to feudalism/nkl&izFkk ls tkxhjnkjh izFkk dh 

vksj 

 (B) feudalism to capitalism/tkxhjnkjh izFkk ls iawthokn dh 

vksj 

 (C) Capitalism to socialism/iwathokn ls lektokn dh vksj 

 (D) Socialism to market socialism/lektokn ls cktkj 

lektokn dh vksj 

 65. What was the name of the space shuttle that landed man 

on the moon ? 

 pk¡n ij vkneh dks ys tkus okys varfj{k ;ku dk D;k uke Fkk\ 

 (A) Eangle/bZxy 

 (B) Columbia/dksyfEc;k 

 (C) Challenger/pSysatj  

 (D) Apollo/viksyks 

66. Who measured the velocity of light first ? 

 izdk'k dk osx lcls igys fdlus ekik Fkk \ 

 (A) Galileo/xsfyfy;ks  (B) Newton/U;wVu 

 (C) Romer/jksej  (D) Einstein/vkbULVhu 

67.  The IUPAC name of acetylene is 

 ,flfVyhu dk vkbZ- ;w- ih- ,- lh uke D;k gS \ 

 (A) Ethene/bZFkhu (B) Ethane/bZFksu 

 (C) Ethyne/bZFkkbu (D) Ethylene/bZfFkyhu 

68.  Who is known as originator of Sahtara (Sitar)? 
 lgrkjk ¼flrkj½ dk tud fdldks ekuk tkrk gS\ 

 (A) Bade Ghulam Ali/cM+s xqyke vyh 

 (B) Amir Khusro/vehj [kqljks 

 (C) Tansen/rkulsu 

 (D) Baiju Bawra/cStw ckojk 

69.  A ligand can also be regarded as 
 fyxSaM dk nwljk uke gS& 

 (A) Lewise base/yqbZl csl 

 (B) Lewis acid/yqbZl ,flM 

 (C) Bronsted base/czkaLs VsM cls 

 (D) Bronsted acid/czkaLsVsM ,flM 

70. In Indian architecture „Surkhi‟ was introduced by 
 Hkkjrh; okLrqf'kYi esa ^lq[khZ* fdlus 'kq: dh Fkh \ 

 (A) Guptas/xIqr 

 (B) Sultanate Sultans/lYrur lqYrku 

 (C) Mughals/eqxy 

 (D) Kushans/dq"kk.k) 

71.  Liberalism stands for 
 mnkjrkokn fdldk n~;ksrd gS \ 

(A)   Self-emancipation/Lor% m¼kjhdj.k 

(B)   freedom in social, Political/lkekftd] 

 jktuSfrd rFkk vk£Fkd igyqvksa dh Lora=rk 

(C)  Religious orthodoxy//k£ed :<hoknrk 

 (D)  a movement and attitude/izo`fÙk rFkk crkZo 

72. Consider the following statements relating to the World 
Trade Organization (WTO): 

 fo'o O;kikj lxaBu (WTO) ds lnaHkZ eas fuEufyf[kr dFkuksa 

 ij fopkj dhft,% 

(A) The WTO deals with the global rules of trade between 
nations/WTO  

jk"Vªksa ds chp O;kikj ds fo'oO;kih fu;eksa ls laca/k j[krk gSA 

(B) The goal of the WTO is the help producers of goods and 

services, exporters, and importers to conduct  their 
business/WTO dk y{; eky ,oa lsokvksa ds mRikndksa] 

fu;kZrdksa vkSj vk;kr dksa dks muds O;kikj lapkyu esa lgk;rk 

djuk gSA 

(C) The WTO distances itself in framing of rules on trade in 

intellectual property rights/WTO ckSfd lEink vf/kdkjkas ds 

O;kikj ds fu;e cukus ls [kqn dks nwj j[krk gSA 

(D) The WTO, which is a successor body of the General 

Agreement on Tariffs and trade, came into being following 
the Uruguay Round of Negotiations/WTO, tks VSfjQ ,oa 

O;kikj laca/kh lkekU; djkj dk mÙkjkf/kdkjh fudk; gS] tks 

m:Xos nkSj dh laf/okrkZ ds ifj.kke Lo:i vfLrRo esa vk;kA 

73. Which one of the following rivers crosses the tropic of 

capricorn twice ? 
 fuEufyf[kr esa ls dkSu&lh unh edj js[kk ls nks ckj xqtjrh 

gS \ 

 (A) Vall – okWy (B) Limpopo/fyEiksiks 

 (C) Nizer/ukbtj (D) Zambezi/ tkEcsth 

74. The plant from which cocoa and chocolate are obtained is 
a 

 fdu ikS/ksa ls dksdks vkSj pkWdysV izkIr fd;k tkrk gS \ 

 (A) herb/'kkd  

 (B) Shrub/>kMh+ 

 (C) Small tree/NksVk o`{k 

 (D) very big tree/cgqr cM+k o`{k 

75. How many members are there in Public Accounts 

committee ? 

 yksd ys[kk lfefr esa fdrus lnL; gS \ 

 (A) 28 members/28 lnL; (B) 20 members/20 lnL; 

 (C) 30 members/30 lnL; (D) 22 members/22 lnL;       

Part-III. 
GENERAL AWARENESS 

¼vaxzsth Hkk’kk½ 

Directions : (76-78): In the following  questions, some parts of the 

sentences have errors and some have none. Find out which part of 

a sentence has an error. The number of that part is your answer. If 

a sentence is free from error, then your answer is (4). i.e. No error. 

76. Our knowledge  of history does not come to (a)/ our 

help and some times we even fail to (b)/ remember 

who invented America(c)/ No error (d). 

77. My grandfather owns(a)/fifty acre(b)/ of wetland (c)/ 
No error (d) 

78. Indian scientists are in no way (a)/ inferior than (b)/ 

any other scientist in the world. (c)/ No error (d) 
Directions (79-80): In the following questions, sentences are given 

with blanks to be filled in with an appropriate word(s). Four 

alternatives are suggested for each question. Choose the correct 

alternative out of the four as your answer. 

79. The government, in a bid to make Bihar, a preferred 

investment destination, has ____major schemes to 

create infrastructure at different  stages. 

 (a) Opposed (b) Opened  (c) Pushed (d)Launched 

80. I suffer from no____ about my capabilities. 

 (a) Doubts  (b) Halluciantions   
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(c) Imaginations (d) Illusions 
Directions: (81-82): In the  following questions, out of the four 

alternatives, choose the one which best expresses the meaning of 

the given word as your answer. 

81. Fortitude 

 (a) Courage  (b) Protection   

 (c) Safety (d) Similarity 

82. Duplicity 

 (a) Artlessness  (b) Deceit   

 (c) Cleverness (d) Repetition 
Directions (83-84): In the following questions, choose the word 

opposite in meaning to the given word as your answer. 

83. Amicable 

 (a) Friendly  (b) Haughty   

 (c) Unpleasant (d) Hostile 

84. Mitigate 

 (a) Aggravate   (b) Allay   

 (c) Alleviate (d) Abate 
Direction (85-87): In the following questions, three alternatives are 

given for the Idiom/ phrase printed in bold in the sentence. 

Choose the alternative which best expresses the meaning of the 

idiom/ phrase as your answer. 

85. When the family in the next house packed off at 

midnight, I began to smell a rat. 

 (a) To suspect a trick   (b) To misunderstand 

 (c) To see hidden meaning (d) To smell a bad smell 

86. At first, there was a show of resistance to the new 

rule issued by the Government, but the movement 
had no backbone and speedily collapsed. 

 (a) Justification  (b) Impact   

 (c) Strength (d) Support 

87. The minister assured the agitating employees that he 

would look into their demands sympathetically. 

 (a) Discuss  (b) Watch   

 (c) Grant  (d) Examine 
Directions (88-90): In the following questions, a part of the 

sentence is printed in bold . Below are given alternatives to the 

bold part at (1), (2) and (3) which may improve the sentence. 

Choose the correct alternative. In case no improvement is needed. 

Your answer is (4). 

88. Those plucking flowers are liable for punishable. 

 (a) Are liable for punishable   

 (b) Are liable for punishing 

 (c) Are liable to be punished   

 (d) Are viable for punishment 

89. His lust for power brought about his downfall. 

 (a) Intense desire (b) Desire for power 

 (c) Desire for sex (d) No improvement 

90. When we see black smoke near the wing of the 

plane, we were certain that disaster was imminent . 

 (a) When we were seeing  (b) When we saw 

 (c) When we had seen  (d) No improvement 
Directions (91-93): In the following questions, out of the four 

alternatives choose the one which can be substituted for the given 

words/sentence.  

91. One indifferent to art and literature is 

 (a) Critic   (b) Philistine   

 (c) Scholar (d) Aromantic 

92. Open to injury or criticism 

 (a) Vulnerable  (b) Naïve   

 (c) Sensitive (d) Invincible 

93.  A narrow piece of land connecting two large masses 
of land 

 (a) Isthmus  (b) continent   

 (c) Gulf (d) Peninsula 
Directions (94-95): In the following questions, there are foru 

different words out of which one is correctly spelt. Find the 

correctly spelt word as your answer. 

94. (a) Beneficil  (b) Beneficial   

 (c) Benifical (d) Benificial 

95. (a) Affectionately  (b)Afectionately   

 (c) Affectionnality (d) Affactionately 
Directions (96-100): In the following questions, you have one  brief 

passages with 5 questions following passage. Read the passages 

carefully and choose the best answer to each question out of the 

four alternatives and. 

Passage- I 

If this is so, if to read a book as it should be read calls for 
the rarest qualities of imagination, insight and judgement. 

You may perhaps conclude that literature is a very complex 

art and that it is unlikely that we shall be able, even after a 
life time of reading, to make any valuable contribution to 

its criticism. We must remain readers, we shall not put on 
the further glory that belongs to those rare beings who are 

also critics. 

96. What is the opinion of most of the people about 
literature? 

 (a) That it is not an easy one to contribute anything. 

 (b) That it is to some extent difficult to understand. 

 (c) That no contribution is necessary for literature. 

 (d) That it is very easy to understand 

97. The antonym of conclude is 

 (a) Commence  (b) Exclude  

 (c) End (d) Include 

98. According to the author 

 (a) It is not possible for most of us to contribute 
anything for criticism  

 (b)  It is possible to do something 

 (c)  It is not even easy to under stand literature 

 (d) Most of the people can contribute to criticism of 

literature 

99. The author feels that we cannot have the greatness of 

 (a) Writers  (b) Critics   

 (c) Publishers (d) Readers 

100. What are the qualities required for reading a book? 

 (a) Proper judgement (b) Imagination 

 (c) Imagination, insight and judgement 

 (d) None of the above 
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